

COURT ORDER NUMBER 144773

PAGE 1 OF 27

DATE: 2/19/2025

SUBJECT: BID NO. F2025060 - ANNUAL CONTRACT FOR MODULAR FURNITURE AND MOVABLE/DEMOUNTABLE WALLS - COUNTYWIDE - VARIOUS VENDORS - PER UNIT PRICE AND DISCOUNT FROM LIST PRICE

## **COMMISSIONERS COURT ACTION REQUESTED**

It is requested that the Commissioners Court award Bid No. F2025060, Annual Contract for Modular Furniture and Movable/Demountable Walls, Countywide, to the following vendors at the per unit price and discount from list price:

Primary	Plano Office Supply	2 of 5 Sections
	Vari Sales Corporation	1 of 5 Sections
	Royer Commercial Interiors	1 of 5 Sections
	Texas Interior Resources	1 of 5 Sections
Secondary	Wilson Bauhaus Interiors	2 of 5 Sections
	ODP Business Solutions	1 of 5 Sections
Alternate	Wilson Bauhaus Interiors	1 of 5 Sections
	<b>ODP</b> Business Solutions	1 of 5 Sections

## **BACKGROUND**

Notice of the County's intent to bid was advertised in local newspapers, as required by State statute, and posted on the Internet, the Arlington Black Chamber of Commerce, the Fort Worth Hispanic Chamber of Commerce, the Fort Worth Metropolitan Black Chamber of Commerce, and the Tarrant County Asian American Chamber of Commerce. Two hundred fifty-seven (257) vendors were contacted and requested to participate in this bid process. All documents pertaining to this bid were posted on the Tarrant County website and were downloaded by interested bidders. A pre-bid conference held on December 16, 2024, was attended by four (4) vendors as well as representatives from Purchasing. Six (6) bids and three (3) no-bids were received.

Bids were evaluated by Purchasing representatives. Award recommendations are to the low bids meeting specifications.

There are no secondary vendors awarded for Sections 3 or 4 because only one (1) bid was received. There are no alternate vendors awarded for Section 1 because only two (2) bids were received.

The term of the contract is twelve (12) months, effective February 26, 2025, with two (2) options for renewal periods of twelve (12) months each.

SUBMITTED BY	Purchasing	PREPARED BY:	Amos Jones Jr.
		APPROVED BY:	Christopher Lax, CPSM, CPSD, CPCP



***	REFERENCE NUMBER:	144773	DATE:	2/19/2025	PAGE 2 OF	27
The purpose o cubicle furnitu	f this contract is for the pre and walls.	ourchase of mo	odular furnit	ure and mov	able/demountab	le walls such as
	s the recommendation of Movable/Demountable Volume list price.					
FISCAL IMP	<u>ACT</u>					
There were no	expenses for last year. (	Orders are plac	eed on an as-	needed basis		

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

		-						
			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	mercial ors th, TX No No	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	supply X o o fes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	rporation I, TX No - Yes
			+; 4	Extended	Unit	Extended	Unit	Extended
Line #	Description	<u>- -</u>	01111	רעוניוומרמ				
1	Allsteel - Optimize				Primary Award	ward		
1.1	Flat Bkt for 12D W/SPart Number: T612FB		No Bid	No Bid	\$ 19.67	19.67	No Bid	No Bid
1.2	"L" Connector StrapPart Number: P3CONSL	3	No Bid	No Bid	\$ 6.74 \$	20.22	No Bid	No Bid
13 2	Optimize Inline Connector KitPart Number: P3CONTT	2	No Bid	No Bid	\$ 30.91	\$ 61.82	No Bid	No Bid
	Cantilever Bracket 24D LH TerracePart Number:	2	No Bid	No Bid	\$ 23.60	\$ 47.20	No Bid	No Bid
1.4	T6CB24L					!		NO RIC
1.5	Cantilever Bracket 24D RH TerracePart Number:	2	No Bid	No Bid	\$ 23.60	\$ 47.20	No Bid	pid Ovi
1.6	Optimize Painted Top Trim - 30"WPart Number:	2	No Bid	No Bid	\$ 12.65	\$ 25.30	No Bid	No Bid
1.7	Optimize Painted Top Trim - 36"WPart Number:	2	No Bid	No Bid	\$ 12.65	\$ 25.30	No Bid	No Bid
	Optimize Painted Top Trim - 48"W Part Number:	2	No Bid	No Bid	\$ 15.74	\$ 31.48	No Bid	No Bid
6	Optimize Panel End Trim - 65"HPart Number: P3AOP-	2.	No Bid	No Bid	\$ 33.72	\$ 67.44	No Bid	No Bid
7	ET65 65H "I" Connector Post Part Number: P3CONL65N	3	No Bid	No Bid	\$ 50.86	\$ 152.58	8 No Bid	No Bid
T. T.								

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	urce Group , TX . No - Yes	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes		Wilson	Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	is Inte TX No Yes	eriors
‡ 0 2	Docerntion	ΥTΩ	Unit	Extended	Unit	Extended	U	Unit	Exter	Extended
1 1	Allsteel - Optimize						χ	Seondary Award	Awaı	g
1.1	Flat Bkt for 12D W/SPart Number: T612FB	н	No Bid	No Bid	No Bid	No Bid	\$	25.62	\$	25.62
1.2	"L" Connector StrapPart Number: P3CONSL	3	No Bid	No Bid	No Bid	No Bid	\$	8.78	\$	26.34
1.3	Optimize Inline Connector KitPart Number: P3CONTT	2	No Bid	No Bid	No Bid	No Bid	❖	40.26	٠	80.52
1.4	Cantilever Bracket 24D LH TerracePart Number: T6CB24L	2	No Bid	No Bid	No Bid	No Bid	ş	30.74	\$	61.48
1.5	Cantilever Bracket 24D RH TerracePart Number: T6CB24R	2	No Bid	No Bid	No Bid	No Bid	\$	30.74	\$	61.48
1.6	Optimize Painted Top Trim - 30"WPart Number: P1AOP-TC30	2	No Bid	No Bid	No Bid	No Bid	\$	16.48	٠	32.96
1.7	Optimize Painted Top Trim - 36"WPart Number: P1AOP-TC36	2	No Bid	No Bid	No Bid	No Bid	\$	16.84	\$	33.68
1.8	Optimize Painted Top Trim - 48"W Part Number: P1AOP-TC48	2	No Bid	No Bid	No Bid	No Bid	φ.	20.50	\$	41.00
1.9	Optimize Panel End Trim - 65"HPart Number: P3AOP-ET65	2	No Bid	No Bid	No Bid	No Bid	φ.	43.92	\$	87.84
1.10	65H "L" Connector Post Part Number: P3CONL65N	κ	No Bid	No Bid	No Bid	No Bid	\$	66.25	\$	198.75

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	nmercial iors irth, TX - No - Yes	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	se Supply b, TX - No - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation ell, TX - No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
1.11	15Hx48W Flipper 2 Door OverheadPart Number: POHRTA1548FD	2 [	No Bid	No Bid	\$ 267.79	\$ 535.58	No Bid	No Bid
1.12	Primary 24Dx48W Flat Eg Lam w/Grommets Part Number: T52448S	3	No Bid	No Bid	\$ 164.67	\$ 494.01	No Bid	No Bid
1.13	Optimize Tckble Pnl 65H x 30W w/out Top CapPart Number: P16530TP	<del></del>	No Bid	No Bid	\$ 213.56	\$ 213.56	No Bid	No Bid
1.14	Optimize Tckble Pnl 65H x 30W w/out Top Cap Part Number: P16530TP	Н	No Bid	No Bid	\$ 213.56	\$ 213.56	No Bid	No Bid
1.15	Optimize Tckble Pnl 65H x 36W w/out Top CapPart Number: P16536TP	2	No Bid	No Bid	\$ 239.69	\$ 479.38	No Bid	No Bid
1.16	Optimize Tckble Pnl 65H x 48W w/out Top Cap Part Number: P16548TP	$\leftarrow$	No Bid	No Bid	\$ 281.00	\$ 281.00	No Bid	No Bid
1.17	Optimize Tckble Pnl 65H x 48W w/out Top CapPart Number: P16548TP	$\vdash$	No Bid	No Bid	\$ 281.00	\$ 281.00	No Bid	No Bid
1.18	Align Ped 28x15x24 BBF MetFront PlinthPart Number: YPPSP281524BE	2	No Bid	No Bid	\$ 356.31	\$ 712.62	No Bid	No Bid
	Section Total		No Bid			\$3,708.92 No Bid	No Bid	
1.19	Discount offered for items not listed on the Bid	:	No Bid			71.9%	71.9% No Bid	
2	HON - Accelerate				Primar	Primary Award		er e

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	s, TX s, TX - No - Yes	ODP Busines Soluti Boca Raton, LA HUB - No CO-OP - Yes	ons	Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
1.11	15Hx48W Flipper 2 Door OverheadPart Number: POHRTA1548FD	2	No Bid	No Bid	No Bid	No Bid	\$ 348.80	\$ 697.60
1.12	Primary 24Dx48W Flat Eg Lam w/Grommets Part Number: T52448S	3	No Bid	No Bid	No Bid	No Bid	\$ 223.63	\$ 670.89
1.13	Optimize Tckble Pnl 65H x 30W w/out Top CapPart Number: P16530TP	П	No Bid	No Bid	No Bid	No Bid	\$ 278.16	\$ 278.16
1.14	Optimize Tckble Pnl 65H x 30W w/out Top Cap Part Number: P16530TP	Н	No Bid	No Bid	No Bid	No Bid	\$ 278.16	\$ 278.16
1.15	Optimize Tckble Pnl 65H x 36W w/out Top CapPart Number: P16536TP	2	No Bid	No Bid	No Bid	No Bid	\$ 312.20	\$ 624.40
1.16	Optimize Tckble Pnl 65H x 48W w/out Top Cap Part Number: P16548TP	Н	No Bid	No Bid	No Bid	No Bid	\$ 366.00	\$ 366.00
1.17	Optimize Tckble Pnl 65H x 48W w/out Top CapPart Number: P16548TP	$\leftarrow$	No Bid	No Bid	No Bid	No Bid	\$ 366.00	\$ 366.00
1.18	Align Ped 28x15x24 BBF MetFront PlinthPart Number: YPPSP281524BE	2	No Bid	No Bid	No Bid	No Bid	\$ 443.23	\$ 886.46
	Section Total		No Bid		No Bid			\$4,817.34
1.19	Discount offered for items not listed on the Bid		No Bid		No Bid			%5'69
2	HON - Accelerate				Alterna	Alternate Award	Seonda	Seondary Award

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	er Commercial Interiors ort Worth, TX HUB - No CO-OP - Yes	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	e Supply , TX - No - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation II, TX · No · Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
2.1	"L" Connector StrapPart Number: HECSL	33	No Bid	No Bid	\$6.58	\$ 19.74	No Bid	No Bid
2.2	Flat Bracket 24DPart Number: HHN831124	1	No Bid	No Bid	\$26.31	\$ 26.31	No Bid	No Bid
2.3	Straight Connector KitPart Number: HSCKTPS	2	No Bid	No Bid	\$8.97	\$ 17.94	No Bid	No Bid
2.4	Left-Hand Cantilever 24"DPart Number: HCTL241L	1	No Bid	No Bid	\$18.54	\$ 18.54	No Bid	No Bid
2.5	Right-Hand Cantilever 24"DPart Number: HCTL241R	Т	No Bid	No Bid	\$18.54	\$ 18.54	No Bid	No Bid
2.6	24D Cantilever One PairPart Number: HCTL242	1	No Bid	No Bid	\$34.09	\$ 34.09	No Bid	No Bid
2.7	65H "L" Connector PostPart Number: HEC65PLN	2	No Bid	No Bid	\$58.90	\$ 117.80	No Bid	No Bid
2.8	65H "L" Connector PostPart Number: HEC65PLN	₩.	No Bid	No Bid	\$58.90	\$ 58.90	No Bid	No Bid
2.9	Panel Finished End Covers 65HPart Number: HEDEC65P	2	No Bid	No Bid	\$26.91	\$ 53.82	No Bid	No Bid
2.10	Panel Top Cap 30"WPart Number: HETC30	2	No Bid	No Bid	\$19.14	\$ 38.28	No Bid	No Bid
2.11	Panel Top Cap 36"WPart Number: HETC36	2	No Bid	No Bid	\$24.52	\$ 49.04	No Bid	No Bid

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	urce Group s, TX - No - Yes	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes	s Solutions ton, LA - No - Yes	Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	s, TX S, TX - No - Yes	eriors
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Exte	Extended
2.1	"L" Connector StrapPart Number: HECSL	3	No Bid	No Bid	\$20.55	\$ 61.65	\$9.32	٠,	27.96
2.2	Flat Bracket 24DPart Number: HHN831124	Н	No Bid	No Bid	\$61.75	\$ 61.75	\$37.27	<b>ب</b>	37.27
2.3	Straight Connector KitPart Number: HSCKTPS	2	No Bid	No Bid	\$44.22	\$ 88.44	\$12.70	<b>ب</b>	25.40
2.4	Left-Hand Cantilever 24"DPart Number: HCTL241L	1	No Bid	No Bid	\$39.36	\$ 39.36	\$26.27	\$	26.27
2.5	Right-Hand Cantilever 24"DPart Number: HCTL241R	Τ.	No Bid	No Bid	\$39.36	\$ 39.36	\$26.27	<b>ب</b>	26.27
2.6	24D Cantilever One PairPart Number: HCTL242	τ	No Bid	No Bid	\$64.14	\$ 64.14	\$48.29	\$	48.29
2.7	65H "L" Connector PostPart Number: HEC65PLN	2	No Bid	No Bid	\$123.14	\$ 246.28	\$83.45	\$	166.90
2.8	65H "L" Connector PostPart Number: HEC65PLN	7	No Bid	No Bid	\$123.14	\$ 123.14	\$83.45	\$	83.45
2.9	Panel Finished End Covers 65HPart Number: HEDEC65P	2	No Bid	No Bid	\$52.67	\$ 105.34	\$38.13	\$	76.26
2.10	Panel Top Cap 30"WPart Number: HETC30	2	No Bid	No Bid	\$40.28	\$ 80.56	\$27.11	φ.	54.22
2.11	Panel Top Cap 36"WPart Number: HETC36	2	No Bid	No Bid	\$49.00	\$ 98.00	\$34.74	٠٠	69.48

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	nmercial iors rrth, TX No	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	ce Supply o, TX - No - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation II, TX - No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
2.12	Panel Top Cap 48"WPart Number: HETC48	2	No Bid	No Bid	\$27.81	\$ 55.62	No Bid	No Bid
2.13	Abound Overhead-Metal Flipper Door 48"Part Number: HRVOH48FM	2	No Bid	No Bid	\$257.44	\$ 514.88	No Bid	No Bid
2.14	Box/Box/File 28H x 22 7/8D x 15WPart Number: HVFB23R	1	No Bid	No Bid	\$226.94	\$ 226.94	No Bid	No Bid
2.15	File/File 28H x 22 7/8D x 15WPart Number: HVFF23R	Н	No Bid	No Bid	\$224.85	\$ 224.85	No Bid	No Bid
2.16	Systems Rectangular Worksurface Edgehand 24D x 48WPart Number: HWR2448P	3	No Bid	No Bid	\$160.26	\$ 480.78	No Bid	No Bid
2.17	Tackable Panel w/o TC 65H x 30WPart Number: HETP6530FP	2	No Bid	No Bid	\$156.38	\$ 312.76	No Bid	No Bid
2.18	Tackable Panel w/o TC 65H x 36WPart Number: HETP6536FP	2	No Bid	No Bid	\$167.74	\$ 335.48	No Bid	No Bid
2.19	Tackable Panel w/o TC 65H x 48WPart Number: HETP6536FP	2	No Bid	No Bid	\$190.16	\$ 380.32	No Bid	No Bid
	Section Total		No Bid			\$2,984.63	No Bid	
2.20	Discount offered for items not listed on the Bid		No Bid			70.10%	<b>70.10%</b> No Bid	
æ	VARI						Primar	Primary Award

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

·			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	ource Group s, TX - No - Yes	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes	<b>3</b>	Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	ius Interiors ,, TX . No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
2.12	Panel Top Cap 48"WPart Number: HETC48	7	No Bid	No Bid	\$54.05	\$ 108.10	\$39.40	\$ 78.80
2.13	Abound Overhead-Metal Flipper Door 48"Part Number: HRVOH48FM	2	No Bid	No Bid	\$446.98	\$ 893.96	\$364.72	\$ 729.44
2.14	Box/Box/File 28H x 22 7/8D x 15WPart Number: HVFB23R	⊣	No Bid	No Bid	\$398.80	\$ 398.80	\$321.52	\$ 321.52
2.15	File/File 28H x 22 7/8D x 15WPart Number: HVFF23R	Н	No Bid	No Bid	\$395.59	\$ 395.59	\$318.56	\$ 318.56
2.16	Systems Rectangular Worksurface Edgehand 24D x 48WPart Number: HWR2448P	3	No Bid	No Bid	\$283.73	\$ 851.19	\$227.05	\$ 681.15
2.17	Tackable Panel w/o TC 65H x 30WPart Number: HETP6530FP	2	No Bid	No Bid	\$269.05	\$ 538.10	\$221.54	\$ 443.08
2.18	Tackable Panel w/o TC 65H x 36WPart Number: HETP6536FP	2	No Bid	No Bid	\$286.02	\$ 572.04	\$237.64	\$ 475.28
2.19	Tackable Panel w/o TC 65H x 48WPart Number: HETP6536FP	2	No Bid	No Bid	\$300.44	\$ 600.88	\$237.64	\$ 475.28
	Section Total		No Bid			\$5,366.68		\$4,164.88
2.20	Discount offered for items not listed on the Bid		No Bid			45.00%		69.50%
8	VARI							

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	nmercial iors rth, TX - No - Yes	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	ce Supply o, TX - No - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation II, TX No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
3.1	ESD 60 x 30 ComfortEdge + Cable Tray (Reclaimed Wood)Part Number: 402301	Н	No Bid	No Bid	No Bid	No Bid	\$810.00	\$ 810.00
3.2	Tabnle 60 x 24 (Reclaimed Wood)Part Number: 402232	Н	No Bid	No Bid	No Bid	No Bid	\$495.00	\$ 495.00
3.3	Dual-Monitor Arm 180Part Number: 41513	7	No Bid	No Bid	No Bid	No Bid	\$202.50	\$ 202.50
3.4	File Cabinet (Slate)Part Number: 400742	1	No Bid	No Bid	No Bid	No Bid	\$359.10	\$ 359.10
3.5	Power Hub (Black)Part Number: 401797	1	No Bid	No Bid	No Bid	No Bid	\$89.10	\$ 89.10
3.6	Power Strip 15 ftPart Number: 43148	1	No Bid	No Bid	No Bid	No Bid	\$45.00	\$ 45.00
3.7	One Sided AttachmentPart Number: 402478	1	No Bid	No Bid	No Bid	No Bid	\$3.60	\$ 3.60
3.8	QuickFlex Cubes (L)Part Number: 402121	8	No Bid	No Bid	No Bid	No Bid	\$202.50	\$ 607.50
3.9	QuickFlex Cubes - Flat 24" (set of 2)Part Number: 402120	4	No Bid	No Bid	No Bid	No Bid	\$405.00	\$1,620.00
3.10	QuickFlex Cubes - Flat 30" (set of 2)Part Number: 402119	2	No Bid	No Bid	No Bid	No Bid	\$450.00	\$2,250.00
3.11	QuickFlex Cubes Cable Channel 24" (set of 2)Part Number: 402480	2	No Bid	No Bid	No Bid	No Bid	\$27.00	\$ 54.00

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	urce Group 5, TX - No - Yes	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes		Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	us Interiors , TX - No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
3.1	ESD 60 x 30 ComfortEdge + Cable Tray (Reclaimed Wood)Part Number: 402301	↔	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.2	Tabnle 60 x 24 (Reclaimed Wood)Part Number: 402232	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.3	Dual-Monitor Arm 180Part Number: 41513	Т	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.4	File Cabinet (Slate)Part Number: 400742	П	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.5	Power Hub (Black)Part Number: 401797	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.6	Power Strip 15 ftPart Number: 43148	H	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.7	One Sided AttachmentPart Number: 402478	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.8	QuickFlex Cubes (L)Part Number: 402121	m	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.9	QuickFlex Cubes - Flat 24" (set of 2)Part Number: 402120	4	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.10	QuickFlex Cubes - Flat 30" (set of 2)Part Number: 402119	5	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.11	QuickFlex Cubes Cable Channel 24" (set of 2)Part Number: 402480	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	nmercial iors rth, TX - No - Yes	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	ce Supply b, TX - No - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation II, TX - No - Yes
Line #	Description	ату	Unit	Extended	Unit	Extended	Unit	Extended
3.12	QuickFlex Cubes Cable Channel 30" (set of 2)Part Number: 402481	Н	No Bid	No Bid	No Bid	No Bid	\$27.00	\$ 27.00
3.13	Quickflex Cubes Power Duo A&CPart Number: 402489	Н	No Bid	No Bid	No Bid	No Bid	\$198.00	\$ 198.00
3.14	Quickflex Cubes Power H BlockPart Number: 402490	Н	No Bid	No Bid	No Bid	No Bid	\$20.70	\$ 20.70
3.15	Quickflex Cubes Power Infeed - Right HandedPart Number: 402488	Н	No Bid	No Bid	No Bid	No Bid	\$72.90	\$ 72.90
	Section Total		No Bid		No Bid		\$	6,854.40
3.16	Discount offered for items not listed on the Bid		No Bid		No Bid			10.00%
4	НАWОRTH		Primary	Primary Award		-		
4.1	Compose, Base Feed module, 3 Cir, 332Part Number: VZEB-0000-3	1	\$147.75	\$ 147.75	No Bid	No Bid	No Bid	No Bid
4.2	Triplex Receptacle, 15 Amp, 332, CMPart Number: EUER - 153P - GSOS	1	\$84.19	\$ 84.19	No Bid	No Bid	No Bid	No Bid
4.3	Worksurface, Rect, 24D x 48W, Lam, Edgeband, Std Corder, NotchedPart Number: WURA-2448-LISA	1	\$187.89	\$ 187.89	No Bid	No Bid	No Bid	No Bid
4.4	Compose, Single Tile, 48In.H X 36In.W, Fabric/Tack, Std Core,Part Num: VZTI-4836-FNC	4	\$121.72	\$ 486.88 No Bid	No Bid	No Bid	No Bid	No Bid

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	s, TX s, TX - No	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes		Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	aus Interiors s, TX - No - Yes
Line #	Description	ατγ	Unit	Extended	Unit	Extended	Unit	Extended
3.12	QuickFlex Cubes Cable Channel 30" (set of 2)Part Number: 402481	Н	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.13	Quickflex Cubes Power Duo A&CPart Number: 402489	П	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.14	Quickflex Cubes Power H BlockPart Number: 402490	ч	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3.15	Quickflex Cubes Power Infeed - Right HandedPart Number: 402488	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
	Section Total		No Bid		No Bid		No Bid	
3.16	Discount offered for items not listed on the Bid		No Bid		No Bid		No Bid	
4	НАМОКТН					_		
4.1	Compose, Base Feed module, 3 Cir, 332Part Number: VZEB-0000-3	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.2	Triplex Receptacle, 15 Amp, 332, CMPart Number: EUER - 153P - GSOS	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.3	Worksurface, Rect, 24D x 48W, Lam, Edgeband, Std Corder, NotchedPart Number: WURA-2448-LISA	$\vdash$	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.4	Compose, Single Tile, 48In.H X 36In.W, Fabric/Tack, Std Core,Part Num: VZTI-4836-FNC	4	No Bid	No Bíd	No Bid	No Bid	No Bid	No Bid

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	nmercial iors rth, TX · No - Yes	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	io Office Supply Plano, TX HUB - No CO-OP - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation ill, TX - No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
4.5	Side/Corner Bracket,LHPart Number: ZZBA-0000-PL	Н	\$9.67	\$ 9.67	No Bid	No Bid	No Bid	No Bid
4.6	Compose, Cntlvr Brkt., Standard, 16In. D, Painted, Bh Part Number: ZZBD-1600-CP	П	\$75.08	\$ 75.08	No Bid	No Bid	No Bid	No Bid
4.7	Compose, Cntlvr Brkt., Standard, 16In. D, Painted, RHPart Number: ZZBD-1600-CR	2	\$79.60	\$ 159.20	No Bid	No Bid	No Bid	No Bid
4.8	Elec Comp, Data Blank CoverPart Number: VZAD-0000-R	9	\$10.08	\$ 60.48	No Bid	No Bid	No Bid	No Bid
4.9	Elec Comp, Receptacle Blank Cover, Compose/PremisePart Number: VZAR-0000	2	\$5.58	\$ 11.16	No Bid	No Bid	No Bid	No Bid
4.10	Compose,Top Trim 24In.W,Stl, Pnl FramePart Number: VZCC-0024-HS	3	\$56.97	\$ 170.91	No Bid	No Bid	No Bid	No Bid
4.11	Compose, Top Trim 36In.W,Stl, Pnl FramePart Number: VZCC-0036-HS	2	\$58.54	\$ 117.08	No Bid	No Bid	No Bid	No Bid
4.12	Worksurface, Rect,24Dx72W,Lam,Edgeband,Std Core,NotchedPart Number: WURA-2472-USA	П	\$253.44	\$ 253.44	No Bid	No Bid	No Bid	No Bid
4.13	Compose,Panel Trim,End-Of-Run 50In.H, SteelPart Number: VZCE-5000-H	2	\$40.82	\$ 81.64	No Bid	No Bid	No Bid	No Bid
4.14	Compose, Frm,50Hx36W,Bs NoPwr,No BsTrm/No BsTrm,No Bit Pwr,StdPart Number: VZFF-5036-NNNNR	2	\$189.99	\$ 379.98	No Bid	No Bid	No Bid	No Bid
4.15	Compose,Connector Trim,Corner,2-Way 50ln.H, SteelPart Number: VZCL-5000-H	ю	\$142.76	\$ 428.28	No Bid	No Bid	No Bid	No Bid

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	ource Group s, TX - No - Yes	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes	ľ	Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	aus Interiors s, TX - No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
4.5	Side/Corner Bracket,LHPart Number: ZZBA-0000-PL	Н	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.6	Compose, Cntlvr Brkt,, Standard, 16In. D, Painted, BhPart Number: ZZBD-1600-CP	<del></del>	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.7	Compose,Cntlvr Brkt., Standard,16In.D,Painted,RHPart Number: ZZBD-1600-CR	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.8	Elec Comp, Data Blank CoverPart Number: VZAD-0000-R	9	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.9	Elec Comp, Receptacle Blank Cover, Compose/PremisePart Number: VZAR-0000	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.10	Compose, Top Trim 24In.W,Stl, Pnl FramePart Number: VZCC-0024-HS	3	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.11	Compose,Top Trim 36In.W,Stl, Pnl FramePart Number: VZCC-0036-HS	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.12	Worksurface, Rect,24Dx72W,Lam,Edgeband,Std Core,NotchedPart Number: WURA-2472-LJSA	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.13	Compose,Panel Trim,End-Of-Run 50In.H, SteelPart Number: VZCE-5000-H	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.14	Compose, Frm,50Hx36W,Bs NoPwr,No BsTrm/No BsTrm,No Blt Pwr,StdPart Number: VZFF-5036-NNNNR	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.15	Compose, Connector Trim, Corner, 2-Way 50In.H, SteelPart Number: VZCL-5000-H	3	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	nmercial iors rth, TX - No - Yes	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	no Office Supply Plano, TX HUB - No CO-OP - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation !II, TX - No 2- Yes
Line #	Description	ATV	Unit	Extended	Unit	Extended	Unit	Extended
4.16	Compose, Single Tile, 40In.H X 48In.W, Fabric/Tackable, Std Core, No TechPart Number: VZTI-4048-FNN	2	\$125.39	\$ 250.78	No Bid	No Bid	No Bid	No Bid
4.17	Single Tile, 40In.H X 24In.W, Use W/Compose, Fabric/Tackable, Std Core, No Part Num: VZTI-4024-FNN	4	\$85.08	\$ 340.32	No Bid	No Bid	No Bid	No Bid
4.18	Compose, Frm,50Hx48W,Bs 3CIR,Bs Cvhl/Cvhl,No Blt Pwr,StdPart Number: VZFF-5048-N3HHNR	1	\$314.17	\$ 314.17	No Bid	No Bid	No Bid	No Bid
4.19	Compose, Single Tile, 48In.H X 24In.W, Fabric/Tackable, Std Core, Part Num: VZTI-4824-FNN	2	\$97.78	\$ 195.56	No Bid	No Bid	No Bid	No Bid
4.20	Compose, Frm,50Hx24W,Bs NoPwr,No BsTrm/No BsTrm,No Blt Pwr,StdPart Number: VZFF-5024-NNNNNR	1	\$172.52	\$ 172.52	No Bid	No Bid	No Bid	No Bid
4.21	Compose, Frm,50Hx24W,Bs NoPwr,BsTrm/BsTrm,No Blt Pwr,StdPart Number: VZFF-5024-NNBBNR	Н	\$189.59	\$ 189.59	No Bid	No Bid	No Bid	No Bid
4.22	Compose, Frm,50Hx24W,Bs 3CIR,Bs Cvhl/Cvhl,No Blt Pwr,StdPart Number: VZFF-5024-N3HHNR	П	\$277.01	\$ 277.01	No Bid	No Bid	No Bid	No Bid
4.23	Compose, Top Trim 48In.W,Stl, Pnl FramePart Number: VZCC-0048-HS	Н	\$34.81	\$ 34.81	No Bid	No Bid	No Bid	No Bid
4.24	X Series, Pedestal, B/B/F,24"D, PtdDrwFrt, Stl Lkrl,Linear Pull Part Num: JPAH-24-S8	Н	\$439.74	\$ 439.74	No Bid	No Bíd	No Bid	No Bid
	Section Total		\$	4,868.13	No Bid		No Bid	
4.25	Discount offered for items not listed on the Bid			<u>58.75%</u>	<b>58.75%</b> No Bid		No Bid	

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	urce Group s, TX - No - Yes	ODP Busine Boca Ra HUB CO-OF	ODP Busines Solutions Wilson Bauhaus Interiors Boca Raton, LA Dallas, TX HUB - No HUB - No CO-OP - Yes CO-OP - Yes	Wilson Bauhaus II Dallas, TX HUB - No CO-OP - Ye	Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
4.16	Compose, Single Tile, 40In.H X 48In.W, Fabric/Tackable, Std Core, No Techpart Number: VZTI-4048-FNN	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.17	Single Tile, 40ln.H X 24ln.W, Use W/Compose, Fabric/Tackable, Std Core, No Part Num: VZTI-4024-FNN	4	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.18	Compose, Frm,50Hx48W,Bs 3CIR,Bs Cvhl/Cvhl,No Blt Pwr,StdPart Number: VZFF-5048-N3HHNR	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.19	Compose, Single Tile, 48In.H X 24In.W, Fabric/Tackable, Std Core, Part Num: VZTI-4824-FNN	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.20	Compose, Frm,50Hx24W,Bs NoPwr,No BsTrm/No BsTrm,No Blt Pwr,StdPart Number: VZFF-5024-NNNNNR	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.21	Compose, Frm,50Hx24W,Bs NoPwr,BsTrm/BsTrm,No Blt Pwr,StdPart Number: VZFF-5024-NNBBNR	7	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.22	Compose, Frm,50Hx24W,Bs 3CIR,Bs CvhI/CvhI,No Blt Pwr,StdPart Number: VZFF-5024-N3HHNR	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.23	Compose,Top Trim 48ln.W,Stl, Pnl FramePart Number: VZCC-0048-HS	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
4.24	X Series, Pedestal, B/B/F,24"D, PtdDrwFrt, Stl Lkrl,Linear Pull Part Num: JPAH-24-S8	<del></del>	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
	Section Total		No Bid		No Bid		No Bid	
4.25	Discount offered for items not listed on the Bid		No Bid		No Bid		No Bid	

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	mmercial iors orth, TX - No	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	no Office Supply Plano, TX HUB - No CO-OP - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation ell, TX - No 3- Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
ъ	KIMBALL							
5.1	FOOTPRINT,48W,UNDERSURFACE SUPPORT RAIL,USE W/54-60W SPANPart Number: AC48WSSR	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.2	FOOTPRINT,OVHD BRKT KIT,FLAT/BEVEL PF,NARRATE APPLPart Number: FBO48XOHKIT	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.3	FOOTPRINT,23DX18WX27H,STORAGE,BOX/BOX/FILE,U DSF,LAM,SQUAREPart Number: FSB2318L	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.4	FOOTPRINT,WORKSURFACE BRKT,EDGE,NARRATE APPLPart Number: FWBSANP	7	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.5	FOOTPRINT,MID-SPRT LEG,NARRATE APPLPart Number: FWS1027MSLNP	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.6	FOOTPRINT, FLAT BRACKETPart Number: IBF1	т-1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.7	FOOTPRINT,FLAT/BEVEL OVHD GNG BRKT,XSITE/CETRA/TRAXX/IW,PK 4Part Number: IBSC	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.8	FOOTPRINT METAL,14DX48WX16H,OVHD STOR,RECEDING DOOR,BEVELPart Number: IS144816RP	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.9	FOOTPRINT, 24DX72W, WORKSURFACE, 13/16T, STRAIGHT, HPL, WIRE MGR Part Number: SS2472WSSL3P	7	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.10	FOOTPRINT, 24DX96W, SURFACE, 1 3/16T, STRAIGHT, HPL, SINGLE RIM Part Number: SS2496WSSL1P	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	urce Group , TX No - Yes	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes		Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	ius Interiors 5, TX - No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
2	KIMBALL		Primary Award	Award	Secondary Award	y Award	Alternate Award	e Award
5.1	FOOTPRINT,48W,UNDERSURFACE SUPPORT RAIL,USE W/54-60W SPANPart Number: AC48WSSR	2	\$39.15	\$ 78.30	\$38.10	\$ 76.20	\$38.34	\$ 76.68
5.2	FOOTPRINT,OVHD BRKT KIT,FLAT/BEVEL PF,NARRATE APPLPart Number: FBO48XOHKIT	2	\$59.33	\$ 118.66	\$65.95	\$ 131.90	\$66.96	\$ 133.92
5.3	FOOTPRINT,23DX18WX27H,STORAGE,BOX/BOX/FILE,U DSF,LAM,SQUAREPart Number: FSB2318L	2	\$657.21	\$1,314.42	\$897.80	\$ 1,795.60	\$1,140.48	\$ 2,280.96
5.4	FOOTPRINT, WORKSURFACE BRKT, EDGE, NARRATE APPLPart Number: FWBSANP	7	\$20.64	\$ 144.48	\$14.11	\$ 98.77	\$5.40	\$ 37.80
5.5	FOOTPRINT, MID-SPRT LEG, NARRATE APPLPart Number: FWS1027MSLNP	2	\$160.48	\$ 320.96	\$188.40	\$ 376.80	\$227.88	\$ 455.76
5.6	FOOTPRINT, FLAT BRACKETPart Number: IBF1	τ-1	\$24.64	\$ 24.64	\$19.86	\$ 19.86	\$12.96	\$ 12.96
5.7	FOOTPRINT,FLAT/BEVEL OVHD GNG BRKT,XSITE/CETRA/TRAXX/IW,PK 4Part Number: IBSC	1	\$32.05	\$ 32.05	\$29.72	\$ 29.72	\$25.92	\$ 25.92
5.8	FOOTPRINT METAL, 14DX48WX16H, OVHD STOR, RECEDING DOOR, BEVELPart Number: IS144816RP	2	\$343.43	\$ 686.86	\$434.86	\$ 869.72	\$918.94	\$ 1,837.88
5.9	FOOTPRINT, 24DX72W, WORKSURFACE, 13/16T, STRAIGHT, HPL, WIRE MGR Part Number: SS2472WSSL3P	Н	\$239.41	\$ 239.41	\$315.84	\$ 315.84	\$315.90	\$ 315.90
5.10	FOOTPRINT, 24DX96W, SURFACE, 1 3/16T, STRAIGHT, HPL, SINGLE RIM Part Number: SS2496WSSL1P	Т	\$373.64	\$ 373.64	\$588.26	\$ 588.26	\$623.70	\$ 623.70

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	nmercial iors orth, TX - No	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	no Office Supply Plano, TX HUB - No CO-OP - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation ell, TX - No - Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
5.11	NARRATE,30W,2 HIGH,FABRIC TILE,FIRE RATED,SUPPORT TRAXXPart Number: 33P302ITSTA	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.12	NARRATE,30W,2 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P302ITTTA	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.13	NARRATE,30W,3 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P303ITTTA	4	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.14	NARRATE,30W,TOP CAP,PAINTPart Number: 33P30TCP	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.15	NARRATE,96W,2 HIGH,FABRIC TILE,FIRE RATED,SUPPORT TRAXXPart Number: 33P962ITSTA	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.16	NARRATE,96W,2 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P962ITTTA	Н	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.17	NARRATE,96W,2 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P962ITTTA	1	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.18	NARRATE,96W,3 HIGH,FABRIC TILE,FIRE RATED,SUPPORT TRAXXPart Number: 33P963ITSTA	Т	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.19	NARRATE,96W,3 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P963ITTTA	3	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.20	NARRATE,96W,TOP CAP,PAINTPart Number: 33P96TCP	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.21	NARRATE2019,5 HIGH,2-WAY,L CONNECTOR,PAINT/PAINTPart Number: 93P25FCLPP	3	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	urce Group s, TX - No - Yes	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes	Busines Solution oca Raton, LA HUB - No CO-OP - Yes		Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	us Int TX No No	eriors
Line #	Description	QTY	Unit	Extended	Unit	Extended	pa	Unit	Exte	Extended
5.11	NARRATE,30W,2 HIGH,FABRIC TILE,FIRE RATED,SUPPORT TRAXXPart Number: 33P302ITSTA	2	\$46.24	\$ 92.48	\$32.76	\$ 65.52	52	\$50.76	\$ 1	101.52
5.12	NARRATE,30W,2 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P302ITTTA	2	\$46.24	\$ 92.48	\$32.76	\$ 65.52	.52	\$50.76	\$ 1	101.52
5.13	NARRATE,30W,3 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P303ITTTA	4	\$58.28	\$ 233.12	\$48.79	\$ 195.16	.16	\$71.82	\$ 2	287.28
5.14	NARRATE,30W,TOP CAP,PAINTPart Number: 33P30TCP	2	\$32.05	\$ 64.10	\$23.72	\$ 47.	47.44	\$25.92	❖	51.84
5.15	NARRATE,96W,2 HIGH,FABRIC TILE,FIRE RATED,SUPPORT TRAXXPart Number: 33P962ITSTA	2	\$101.17	\$ 202.34	\$88.23	\$ 176.46	.46	\$146.88	\$ 2	293.76
5.16	NARRATE,96W,2 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P962ITTTA	1	\$101.17	\$ 101.17	\$88.23	\$ 88	88.23	\$146.88	\$ 1	146.88
5.17	NARRATE,96W,2 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P962ITTTA	1	\$101.17	\$ 101.17	\$88.23	\$ 88	88.23	\$146.88	\$ 1	146.88
5.18	NARRATE,96W,3 HIGH,FABRIC TILE,FIRE RATED,SUPPORT TRAXXPart Number: 33P9631TSTA	П	\$141.60	\$ 141.60	\$142.06	\$ 142.06	90:	\$217.62	\$ 2	217.62
5.19	NARRATE,96W,3 HIGH,FABRIC TILE,FIRE RATED,TRIM TRAXXPart Number: 33P963ITTTA	3	\$141.60	\$ 424.80	\$142.06	\$ 426.18	.18	\$217.62	\$	652.86
5.20	NARRATE,96W,TOP CAP,PAINTPart Number: 33P96TCP	2	\$62.91	\$ 125.82	\$64.81	\$ 129.62	.62	\$79.92	\$ 1	159.84
5.21	NARRATE2019,5 HIGH,2-WAY,L CONNECTOR,PAINT/PAINTPart Number: 93P25FCLPP	3	\$97.47	\$ 292.41	\$110.83	\$ 332.49	.49	\$140.40	\$	421.20

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	r Commercial nteriors t Worth, TX HUB - No O-OP - Yes	Plano Offi Plano HUB CO-OF	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	ales Corporation Coppell, TX HUB - No CO-OP- Yes
Line #	Description	QTY	Unit	Extended	Unit	Extended	Unit	Extended
5.22	NARRATE2019,30W,5 HIGH,FRAME,NON-POWEREDPart Number: 93P305FN	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Biď
5.23	NARRATE2019,30W,FRAME MOUNTED SUPPORT TRAXXPart Number: 93P30PST	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.24	NARRATE2019,30W,FRAME MOUNTED TRIM TRAXXPart Number: 93P30PTT	9	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.25	NARRATE2019,48W,5 HIGH,FRAME,NON-POWEREDPart Number: 93P485FN	4	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.26	NARRATE2019,48W,MID-FRAME SUPPORTPart Number: 93P48MFS	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.27	NARRATE2019,5 HIGH,END TRIM,PAINTPart Number: 93P5ETCP	2	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.28	NARRATE2019,96W,FRAME MOUNTED SUPPORT TRAXXPart Number: 93P96PST	33	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
5.29	NARRATE2019,96W,FRAME MOUNTED TRIM TRAXXPart Number: 93P96PTT	5	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
	Section Total		No Bid		No Bid		No Bid	
5.30	Discount offered for items not listed on the Bid		No Bid		No Bid		No Bid	

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

			Interior Resource Group Dallas, TX HUB - No CO-OP - Yes	urce Group , TX . No - Yes	ODP Busines Solutions Boca Raton, LA HUB - No CO-OP - Yes	s Solutions ton, LA - No - Yes	Wilson Bauhaus Interiors Dallas, TX HUB - No CO-OP - Yes	aus Interic s, TX - No - Yes
Line #	Description	QTV	Unit	Extended	Unit	Extended	Unit	Extended
5.22	NARRATE2019,30W,5 HIGH,FRAME,NON-POWEREDPart Number: 93P305FN	2	\$153.35	\$ 306.70	\$184.77	\$ 369.54	\$240.00	\$ 480.00
5.23	NARRATE2019,30W,FRAME MOUNTED SUPPORT TRAXXPart Number: 93P30PST	2	\$33.20	\$ 66.40	\$23.31	\$ 46.62	\$25.38	92'05 \$
5.24	NARRATE2019,30W,FRAME MOUNTED TRIM TRAXXPart Number: 93P30PTT	9	\$28.78	\$ 172.68	\$17.97	\$ 107.82	\$18.36	\$ 110.16
5.25	NARRATE2019,48W,5 HIGH,FRAME,NON- POWEREDPart Number: 93P485FN	4	\$185.25	\$ 741.00	\$223.39	\$ 893.56	\$267.38	\$ 1,069.52
5.26	NARRATE2019,48W,MID-FRAME SUPPORTPart Number: 93P48MFS	2	\$39.45	\$ 78.90	\$33.58	\$ 67.16	\$38.88	92'22 \$
5.27	NARRATE2019,5 HIGH,END TRIM,PAINTPart Number: 93P5ETCP	2	\$71.78	\$ 143.56	\$70.15	\$ 140.30	\$86.94	\$ 173.88
5.28	NARRATE2019,96W,FRAME MOUNTED SUPPORT TRAXXPart Number: 93P96PST	3	\$63.07	\$ 189.21	\$59.47	\$ 178.41	\$72.90	\$ 218.70
5.29	NARRATE2019,96W,FRAME MOUNTED TRIM TRAXXPart Number: 93P96PTT	2	\$58.65	\$ 293.25	\$54.13	\$ 270.65	\$65.88	\$ 329.40
	Section Total		\$	7,196.61	\$	8,133.64	\$	10,892.86
5.30	Discount offered for items not listed on the Bid			<u>67.00%</u>		45.00%		25.00%

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

		RO	Royer Commercial Interiors Fort Worth, TX HUB - No CO-OP - Yes	Plano Off Plan HUB CO-O	Plano Office Supply Plano, TX HUB - No CO-OP - Yes	Vari Sales Corporation Coppell, TX HUB - No CO-OP- Yes	orporation II, TX - No - Yes
Line #	Description	QTY Unit	nit Extended	ed Unit	Extended	Unit	Extended

Note: A no-bid response was received from ACCO Brands USA, LLC, Furniture by William Webb and GL Seaman & Company. There are no secondary vendors awarded for Section 3 or 4 because only one (1) bid was received. There are no alternate vendors awarded for Sections 1, 3, and 4 because only two (2) bids were received.

Bid No. F2025060 - Annual Contract for Modular Furniture and Moveable/Demountable Walls

	Interior Re	Interior Resource Group	ODP Busines Solutions   Wilson Bauhaus Interiors	Wilson Bauhaus Int	eriors
	Da	Dallas, TX	Boca Raton, LA	Dallas, TX	
	<u>∃</u>	HUB - No	HUB - No	HUB - No	
	00	CO-OP - Yes	CO-OP - Yes	CO-OP - Yes	
		i w			
Line # Description	QTY Unit	Extended	Unit Extended	Unit Extended	nded
			0		

vendors awarded for Section 3 or 4 because only one (1) bid was received. There are no alternate vendors awarded for Sections 1, 3, and 4 because Note: A no-bid response was received from ACCO Brands USA, LLC, Furniture by William Webb and GL Seaman & Company. There are no secondary only two (2) bids were received.



## TAKINGS IMPACT ASSESSMENT CHECKLIST

Complete this form for any county action that involves the adoption of a regulation, policy, guideline, court resolution, or order.

Project/Regulation Name: Bid No. F2025060 - Annual Contract for Modular Furniture and Movable/Demountable Walls - Countywide - Various Vendors - Per Unit Price and Discount from List Price County Department: PURCHASING Contact Person: Melissa Lee, C.P.M., A.P.P. Phone Number for Contact Person: (817) 884-3245 Type of TIA Performed: (SHORT TIA or FULL TIA. Circle one after answering the questions in Sections II and III below. 1. **Stated Purpose** Attach to this checklist an explanation of the purpose of the regulation, policy, guideline, court resolution, or order. Note: The remainder of this Takings Impact Assessment Checklist should be completed in consultation with the Criminal District Attorney's Office. Potential Effect on Private Real Property II. 1. Does the county action require a physical invasion, occupation, or dedication of real property? Yes No √ 2. Does the county action limit or restrict a real property right, even partially, or temporarily? Yes No √ If you answered yes to either question, go to Section III. If you answered no to both, STOP HERE and circle SHORT TIA at the top of the form.